
ALLEN 1

no
de

06
\B

0B
0-

BA
\K

ot
a\

JE
E 

M
ai

n\
Je

e M
ai

n-
20

20
_S

ub
jec

t T
op

ic 
PD

F 
W

ith
 S

ol
ut

io
n\

Ch
em

ist
ry

\H
in

di
\O

C
\A

lk
ay

le 
Ha

lid
e.

p6
5"

H

Alkayle Halide

ALKAYLE HALIDE
1. fuEu vfHkfØ;k dk eq[; mRikn gS :
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2. fuEu vfHkfØ;k dk eq[; mRikn gS

Br

Br
Ph

KOH alc (excess)
D

(1) 
Ph

(2) 
Ph

(3) Ph       (4) 
Ph

3. fuEu ;kSfxdksa esa ls dkSulk] AgNO3 ds lkFk vo{ksi
nsxk ?

(1) 
Br

N
(2) 

Br

(3) 

Br

 (4) 

Br

4. fuEu vfHkfØ;k dk eq[; mRikn gS :

CH CH CH–CH23 2

Br Br
¾¾¾¾®
(i) KOH alc.

(ii) NaNH
      in liq NH3

2

(1) CH3CH2CºCH

(2) CH CH CH–CH23 2

NH2 NH2

(3) CH3CH=C=CH2

(4) CH3CH=CHCH2NH2
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SOLUTION
1. Ans. (4)
2. Ans.(3)

Example of E2 elimination and conjugated
diene is formed with phenyl ring in conjugation
which makes it very stable.

3. Ans. (4)
Br

AgNO3 AgBr  +

aromatic cation
as it can produce aromatic cation so will
produce precipitate with AgNO

3
.

4. Ans. (1)

CH – CH – CH – CH3 2 2

CH – CH – C = CH3 2 2

Br

Br

Br

Alc. KOH

NaNH2 in liq. NH3

CH – CH – C    CH3 2
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